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(A) a=-8
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B 3 ax*tax-+2=(ax+2)?

ax?+ax+2=a’x*+4ax+4

(a-a)x+3ax+2=0 ¥ ax+2>0

O % a%-a=0 - a=0#*a=1 - Pla=1(& 12)

@ % a%-a#0 » D=(3a)>-8(a2-a)=0 * a’>+8a=0 » a=-8

(3a)%-8(a-a)>0 » Ala<-82a>0

2 axP+ax+2>0a(x+7)*+2+,>0

Pl (@-a) [(a®-a) 5+3a(-2) 2] <0 > @ j3a>1 » oo~ i ff Fla=-8 a1 B -
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3X3X6=54

1X1X4X6=24

54+24=78 » £ C
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5. In the figure, ABCDEF is a hexagon (= i#7}) such that /A=
/B=/C=2D=-/E=/F, AB+BC=11 and FA-CD=3. What is

=(25-9+4+) XX >=10-7 » FA *

2. In the figure, AABC is an equilateral triangle (% :# = 4 2)) N
with side length (i &) 6cm, ~BDC=120° and BD=DC.
Now, make a 60° angle with point D as its vertex (*& &), and N
the two sides of the angle intersect (<) AB and AC at points
M and N, respectively. If we connect MN to from AAMN, B c
then what is the perimeter (% &), in cm, of AAMN? W
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d 422, ZABD=~/ACD=90" > = A\DBM %28 D "g p¥ &5 5| ADCP » % ## P & AC £ £ 4 + o
v P ADNM=ADNP(SAS)
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the value of BC+DE? (A)12 (B)14 (O)15 (D)16
<fzts>
¢ 7=/AABP ~ AREF ~ ADQC = & A
)k BC=x> CD=y >
RP=RQ=PQ=11+y » RF=x-3
DE=11-(x-3)=14-x » BC+DE=14 > :£ B -

6. 4k p Rifcag HE BHEF 2 frE 3100 7REFfla
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(A)48 (B)77 (C)120 (D)121
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# 0B

P Hc 192837465564 ~73-82-91> £ 9

i #ic atb+c=10 » Ci2-11-1=54

i #c 1def » d+et+f=9 » C}'=55

i+ ¥ 2def » 2008 ~ 2017 ~ 2026

4 9+54+55+3=121 B > ¥ D -
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% P(m, n) > m<0 > n>0

A(0,n) > B(m, 0) » C(Z,n) » D(m, =)
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S = #%0aPB=-MN > SaacD=> X = X (N — —)=3-
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w 0 18 24 42 14
<fE47>
(14-11) X 30+ (42-24)=5
5X18=a(30-15) > a=6
11-6=5:% Co
SCERA(FALS A 0 £ 40 A)
1. X2 F#ca-~b-~c~dB X a=b"> c=d"> 2 c-a=73 > B| d-b= °

<f#47>

£ a=m*> b=m° > ¢=n? > d=n°
c-a=n?>-m*=(n+m?)(n-m?)=73
n+m?=73

n-m?=1

.".n=37 » m*=36
.".d-b=37%-6°=50563-7776=42877
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NS & JURY
P& iR 10-2+1=9 0 ¥+ 9-7=2

coci0 = 28 229 1620
2X1 2X1
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3. Fa’+a*3at2==-5-=> Blat-= °
a a a a -

<fE47>
Rt =a’+ = a2+ )-3(at 2 )+2=0
Lat=t (122 & 1<-2)

t2-3t+(12-2)-3t+2=0D t(t-2)(t+3)=0
=2 A =3

s 11 11 1 1
4 v sra~bc RAFFH 2 =1 a(3r0) 4 (42)te(5) =3
C C

<fZt7>

ab+ac i ab+bc i actbc a?bta’ctab’+b’ctaci+be? -

bc ac ag 5 abc
a?b+c2b+aZct+b ctab +ac*=-3abc >

b-b*+c-c3+a-a3=-3abc=a3+b>+c3-3abe=a+b+c

F4 a3+ b3 + ¢ —3abc = (a+ b +c)(a? + b% + c¢? — ab — ac — bc)
“ria+b+c=08a’+b?+c —ab—ac—bc=1"
Ta+b+c=0zgab+ac+bc=0
srria+b+c=08(a+b+c)2—1=0,

rla+b+c=0: +1
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ntl=atb+tab+1=(at+1)(b+1) > * nt+l Z_& #
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OF &+ o A-~BEEAuE g_@,gty:_)lc(ﬂo) ,y:;(x>()) . 1. 24875 ABCD % ## AB 4r BC I 4 4| % 46757 i¥ = 4 35 ABE 4 BCF » i
R .t > B tan LABO g 5 ° " # FC{rEA 48 & 22 M 5
<fzie> ° X (1) ZEMF=30°
) . y (2) EF=EC=AF=DF=DE
A (m—~),B(n7) m<0n>0 A \g (3) BE 4 4 £_/CFE 4 T 4 3@
ABDO-AOCA <fz 7>
BD DO 4 A (1) zEMF=«£ADC- ~DAM- ~DCM
oc = A = pp— =—-mn=>mn=—2 =5 — =90°-(180°-90°-60°)-(180°-90°-60°)=30°
0OA AC 1 1
- N (2) BC=BF » ~EBC=90°+60°=150°
tan -~ ABO = 0B OD — =3

~EBF=360°- ~ CBF- ~EBC=150°
x EB=EB : % AEBC=AEBF(SAS)

" .EF=FA » | 72 CE=EF

v /ABF=150°=~BCF » AB=CD - BF=CF

. A\ABF=ABCF(SAS)

% AF=DF > | 72 ED=EC > p| EF=EC=AF=DF=DE -

7. As shown in the figure, point P is inside /A ABC such that
ZPAC=~2PBC. Now, from point P, draw perpendicular lines
(Z-41) to BC and CA, which intersects the lines at points N
and M, respectively. If D is the midpoint (¢ 2k) of AB,and 4
let DM=a, then what is the length of DN?

<fE47>

5 APBP 79 B EF - 2. ATH Xy z i R 2=y (%)

i@ $ME, DE, DF, NF. (D & - e iy, y, 2) i @ (%)= =

.ADEM=ANFD > #+12DN = DM = a (2)’” 7 fi B e Fi(x,y,z) @ E)> 2
<rit>

(1) (v, 1,2)=(6,8,3) » % Fvt— » B EHELE -
Q)P E¥#cn - 4 (x, v, 2)=(n*+n, n*+2n, n*-1)
8. £37 Kj LA M f G ERAR I e T 0 B AZAE 2020 0 KEHRE-D 2 I 20 1=2(n ) =20 A 4 20 ]
BoviPkd s - Bl EgF° CREKE DB E o y2+22—(nz+2n)2+(n2 1)2—n4+4n3+4n2+n4 2n2+1=2x2+1
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